Jamie has 12 tennis balls. She gives some to her brother. Now she has 5 tennis balls
left. How many tennis balls did Jamie give to her brother?

Sentence Form

Jamie gave tennis balls to her brother.

Visual Model

Who and/or what

tennis balls

Computation
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Jessica has some tennis balls. She gives 8 of them to her friends. She has 3 tennis
balls left. How many tennis balls did Jessica have to start with?

Sentence Form

Jessica had tennis balls to her start with,

Visual Model

Who and/or what
tennis balls

Computation
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